Math. 350-01
Fall, 2006
R. B. Kearfott

Fourth Exam
Wednesday, November 15

This exam is closed book. Make sure your name is on all pages. Show all work, and show it in a logical and
organized manner. Each entire problem is worth 33 points, and 1 point is free.

In the following problems, refer as necessary to the table in Figure 1.

1. Write down the Laplace transform of f(t) = te'. Show the work you did
to obtain it.

2. Solve the following initial value problem using Laplace transforms.
y' —y=¢" y(0)=0, y(0)=0.

3. Solve the following initial value problem using Laplace transforms. Make
a rough graph of the solution.

y' —y=w(t), y0)=0, y(0)=0,

where u1(t) is the unit step function with step at ¢ = 1.



olution of Initial Value Problems
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Figure 1: From W. E. Boyce and R. C. DiPrima, Elementary Differential Equations and Boundary

Value Problems, eighth edition, Wiley, 2006.



